
Engineering

Manufacturing

Project Management

Centro Botin Santander Carsten Höller: Y

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

2

Centro Botin Santander Carsten Höller: Y

Centro Botin



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

3

Centro Botin Santander Carsten Höller: Y

Carsten Höllers Elevator bed at Centro Botin Santander



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

4

Centro Botin Santander Carsten Höller: Y

2017-03-24
Packing up in Schwebheim for Slot 1

2017-04-03
the Truck with the Bed arrives in Santander Slot 1



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

5

Centro Botin Santander Carsten Höller: Y

	 The crane lifts all the Bed Parts  and transport boxes up to „Planta 2“ at centro Botin in Santander



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

6

Centro Botin Santander Carsten Höller: Y

Protecting the Museums Floor  with Naiprotec 4mm 
Installing Baseplates Layer 1- raw steel
Installing Baseplate Layer 2 - white  powder coated steel

screwing the plates and layers



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

7

Centro Botin Santander Carsten Höller: Y

The Lift just flew in



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

8

Centro Botin Santander Carsten Höller: Y

Positioning the Lift on the Baseplates

first Lift

wiring the lift



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

9

Centro Botin Santander Carsten Höller: Y

2017-04-07:
End of Slot 1
the lift is in position
the exhibition space is free for all other  carsten Höller pieces



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

10

Centro Botin Santander Carsten Höller: Y

2017-04-07:
End of Slot 1
the lift is in position
the exhibition space is free for all other  carsten Höller pieces



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

11

Centro Botin Santander Carsten Höller: Y

2017-04-26:
Packing Up the psycho tank parts and Tools in Schwebheim for Slot 2



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

12

Centro Botin Santander Carsten Höller: Y

nice view to work

2017-05-02:
being back  in santander for Slot 2



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

13

Centro Botin Santander Carsten Höller: Y

Adjusting the height

Installing the turntable



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

14

Centro Botin Santander Carsten Höller: Y

setting up the security system

setting up the security system



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

15

Centro Botin Santander Carsten Höller: Y

	 Almost done
	 Stickers as quick guide for the centro botin personel



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

16

Centro Botin Santander Carsten Höller: Y

2017-05-08:
End of Slot 2
Elevator bed is ready to use
cushions pillows and blankets are provided by centro botin



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

17

Centro Botin Santander Carsten Höller: Y

the elevator bed



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

18

Centro Botin Santander Carsten Höller: Y

	 Opening with  the spanish royals  



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

19

Centro Botin Santander Carsten Höller: Y

	 Opening with  the spanish royals  



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

20

Centro Botin Santander Carsten Höller: Y

	 The Elevator Bed --construction drawings

TEILELISTE
BESCHREIBUNGBAUTEILNUMMERANZAHLOBJEKT

 ZB-Bett komplett-1 
Hubtischvariante 2011-06-27

11

 ZB-Bodenplatte-111.1
 ZB-Bodenplatte-Sicht oben11.1.1
 ZB-Segment Bodenplatte-Sicht oben141.1.1.1
 Segment-2 Bodenplatte11.1.1.1.1
Innensechskant-Rundkopfschraube 
- Produktklasse A

ISO 7380 - M12 x 20241.1.1.1.2

 ZB-Segment Bodenplatte-unten141.1.2
 Segment-1 Bodenplatte11.1.2.1
 Schweineohr31.1.2.2
 Segment 15mm Multiplexplatte11.1.2.3
 ZB-Plattform Stahlbau-111.2
 Klemmplatte oben-111.2.1
 ZB-Kuchenstück Plattform-2141.2.2
 Kuchenpodest dummy-111.2.2.1
 Kuchen-Stahlbau-111.2.2.2
 Geländerpfosten-111.2.2.3
 ZB-Geländer Podest11.2.3
 Plexischeiben-111.2.3.1
 Handlauf141.2.3.2
 ZB-alle Deckel von Plattform 111.2.4
 Deckel-171.2.4.1
 Deckel-271.2.4.2
 Deckel-371.2.4.3
 Deckel-471.2.4.4
 Aluleiste-211.2.4.5
 Aluleiste-311.2.4.6
 Aluleiste-411.2.4.7
 Plexischeiben-Einzelteil11.2.4.8
 ZB-Hubtisch oben (21.06.2011)11.3
 Hubtisch oben (21.06.11)11.3.1
 ENG-05913211.3.1.1
 ENG-05912921.3.1.1.1
 ENG-05912711.3.1.1.1.1
 ENG-05912311.3.1.1.1.2
 DIN 125-1 A A 2111.3.1.1.1.3
 ENG-06438111.3.1.1.1.4
 ENG-06439921.3.1.1.1.5
 ENG-05913021.3.1.1.2
 ENG-06426111.3.1.1.3
 ENG-05915511.3.1.1.4
 ENG-06430211.3.1.1.5
 ENG-06431821.3.1.1.6
 ENG-06439621.3.1.1.7
 ENG-05917111.3.1.2
 ENG-05910711.3.1.3
 ENG-05911011.3.1.4
 ENG-05911321.3.1.5
 ENG-05911521.3.1.6
 ENG-05914021.3.1.7
 ENG-06425611.3.1.8
 ENG-05922611.3.1.9
 ENG-05911721.3.1.10
 ENG-06417521.3.1.11
 ENG-05923711.3.1.12
 ENG-05924011.3.1.13
 ENG-04275721.3.1.14
 ENG-04280321.3.1.15
 ENG-01134921.3.1.16
 ENG-01271921.3.1.17
 ENG-042823161.3.1.18
 ENG-06420621.3.1.19
 ENG-04286811.3.1.20
 ENG-01147211.3.1.21
 ENG-01147311.3.1.22
 ENG-00894221.3.1.23
 ENG-00894111.3.1.24
 ENG-01147711.3.1.25
 ENG-01147611.3.1.26
 ENG-06420211.3.1.27
 ENG-01290621.3.1.28
 ENG-00909421.3.1.29
 ENG-01286841.3.1.30
 ENG-00914421.3.1.31
 ENG-00914331.3.1.32
 ENG-00914251.3.1.33
 ENG-06432311.3.1.34
 ENG-06432511.3.1.35
 ENG-06420511.3.1.36
 ENG-06419621.3.1.37
 ENG-06421741.3.1.38
 ENG-06422411.3.1.39
 ENG-06422511.3.1.40
 ENG-02565511.3.1.41
 ENG-06436611.3.1.42
 ZB-Säule-2 Hubversion11.4
 ZB-Bett rund-111.5
 ZB-Bettinnenteile-111.5.1
 ZB-Bettaußenrahmen-111.5.2
 Matratze-111.5.3
 ZB-Nachtschrank Kühlschrank11.5.4
 Nachtkasten211.5.5
 ZB-Kopfteil-111.5.6
 Zentrierung Bett11.5.7

Faltmarken beachten Schnittkante

1 
A0

 

2014-04-20 ZB-Bett komplett-1 Hubtischvariante 2011-06-27 for Rendering

Status Änderungen Datum Name

Gezeichnet

Kontrolliert

Norm

Datum Name
24.04.2014 sknobling

Ingenieurbüro Knobling
Am Klößberg 29-31
97525 Schwebheim

Bauteilnummer:

41
,6
0

41
71
,0
0

44
33

,17

5420,00

2400,00

27
3,
50

15
96

,5
0

95
5,
00

R1800
,00

R2050,00

R2300,00

R2670,00

Generelle Maße
Carsten Höller Bett
für Wien 2014

1.2.3.2

1.2.2.3

1.2.2.1

1.5.2

1.5.3
1.5.5

1.5.6
1.5.6

1.1.1.1.1

1.3.1.111.3.1.12
1.3.1.42

1.5.31.5.61.5.6

1.2.3.1

1.1.2.3

1.1.1.1.1

1.1.2.1

2350,00

1728,00

4900,00

26°



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

21

Centro Botin Santander Carsten Höller: Y

	 The Elevator Bed  the turn table drive

B-B ( 1 : 5 )

C ( 1 : 5 )

D-D ( 1 : 5 )

B

B

C

D

D

Faltmarken beachten Schnittkante

1 
Benutzerdefinierte Größe (mm)

 

2014-06-15 Drehscheibenantrieb

Status Änderungen Datum Name

Gezeichnet

Kontrolliert

Norm

Datum Name
15.06.2014 sknobling

Ingenieurbüro Knobling
Am Klößberg 29-31
97525 Schwebheim

Bauteilnummer:

12
0,
00

100,00

1440,00

30
,0
0

80,00

336,00

1100,00

12
0,
00 85

,0092,34

50
,00

50,00

1240,00

12,66

16,00

Übersicht Antrieb 
der Drehscheibe

1100,00



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

22

Centro Botin Santander Carsten Höller: Y

	 The Elevator Bed  Components of the turn table drive

E-E ( 1 : 2 )

F-F ( 1 : 2 )

TEILELISTE
BESCHREIBUNGBAUTEILNUMMERANZAHLOBJEKT

 Bosch Rexroth Linearfürungschiene 30mm 
8484-005

11

 Bosch Rexroth Linearschlitten Kugelwagen CS 
Runner block R162972086

12

ZylinderschraubeDIN 912 - M8 x 30183
 Seiladapterplatte-114
 SeilrolleNr 181 85-60 mm-6mmSeil25
ScheibeDIN 125 - A 1386
ScheibeDIN 9021 - 1387
 DIN 988 Passscheibe 12-18-1mm48
ZylinderschraubeDIN 912 M12-5029
 Seiladapterplatte-2110
 Distanzbuchse M6-20411
ZylinderschraubeDIN 912 - M6 x 20412
GewindestiftDIN 913 - M6 x 20413
 Toggle Klemmbeschlag Wasi M8317 4mm Seil214
 Spannseil-4mm-1216
 Elges Gelenkköpfe GIRSW 12217
 SchubZugstange-1118
GewindestiftDIN 913 - M12-80219
SechskantmutterDIN 934 - M12220
 Anschweißteil an Hubtisch-1121
Innensechskant-Rundkopfschraube
 - Produktklasse A

ISO 7380 - M12 x 45222

E E

F

F

Faltmarken beachten Schnittkante

2 
Benutzerdefinierte Größe (mm)

 

2014-06-15 Drehscheibenantrieb

Status Änderungen Datum Name

Gezeichnet

Kontrolliert

Norm

Datum Name
15.06.2014 sknobling

Ingenieurbüro Knobling
Am Klößberg 29-31
97525 Schwebheim

Bauteilnummer:

16

5

4

12

12

7

8

5

9622

6
1720

10
11

14

3
17

9
8

17

20

21

22

6

1440,00

80,00

40,00

10,0045,00

90
,0
0

30
,0
0

1240,00

16
,0
0

1100,00

Übersicht Schubstangenantrieb für 
Drehscheibe

100,00

12
0,
00

40,00

40
,0
0

9,00

7,00 80,00

10
,0
0

20
,0
0

M12x1.75 - 6H

33
,0
0

10
,0
0

50
,0
0

10
,0
0

18

17
21

22

1

5

9

7

3

18

17

22
11

13

10

2

12

100,00

80,00

23
,0
0

10
,0
0

33
,0
0

60
,0
0

10
,0
0

3

90
,0
0

40,00

18

1920
17

22

Die Stange wird im Betrieb leicht schräg laufen,
Scheiben nach Bedarf unterlegen

Seilanschluß muß mit Spannmöglichkeit versehen werden.
Seil 4mm evtl. mit Gummi ummantelt

M6x1 - 6H

M6x1 - 6H

30,00

10,0010,00

90
,0
0

17,00



Engineering

Manufacturing

Project Management

www.knobling.de    Am Klössberg 29-31 D-97525 Schwebheim Fon: 0049-9723-93240 Fax: 0049-9723-932420 info@knobling.de

23

Centro Botin Santander Carsten Höller: Y

	 The Elevator Bed  Components of the turn table drive


